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Word Problems

Activity-5
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Out of 672 students in a sghool, 358
are boys. How many girls are there
in the school?

Ans. There are 3“‘( ........... girls in
the school.

The sum of two numbers is 920. If
one number is 436, find the other
number.

Ans. The other number is

LHEH .

A fruitseller sold 294 mangoes on

_ Saturday and Sunday. If he sold 128
Jof them on Saturday, how many
! mangoes did he sell on Sunday?

2\ ' Aps. The fruit seller sold -

mangoes on Sunday.

& Rahim bought 525 eggs for his

= Dakery. 138 of these eggs broke.
s How many eggs are left?

2

e Ans. BEE eggs are left. - 3
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Activity-6

Add or Subtract r
"'.!F"'{"D A school library has 256 English H@ TD 0
| {indi books. Find the
books and 175 Hindi books 2 5 6
total number of books in the library. i
+! 75

Ans, TotE{l number of books is

-------------------------

A tree has 312 red and green apples. || @ s 8@
127 apples are red. How many apples : 2
)¢ are green? ' 5
= Ans. ... \85 ........... apples are —l 2 P
green. l { 2 =
5 ]
. , ==
Mukta has a book with 400 pages. || ( ',I:q ol
She read 132 Pages yesterday. How 3 @ @
Mmany pages are still to be read? L’ O O
Ans. ..2.68. Pagesare stillto || — | 3 2
be read.
| 2%6¢%
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Aman and hjs friend Raj collect

stamps. Aman has 299 stamps and Raj
has 135 Stamps. What is

number of stamps they both

Ans.  Total number of stamps they
both haveis...43Y .
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Tick (V') the correct answer :
1. 269 + 548 = | |7

(a) 818 [] (b) 817 [“1 (c) 820
2. 800 + 111 = | 41|

]
\ (a) 911 ¥ (b) 910 (] (9 901 ‘?%

Review Exercise

1. Addthe followmg

- C
H T O - H T O
8 0 5 3 6 0
1 2 3 2 9 5
3 4 + 2 6 8
9 6 2 q 2 3]
~ 2. Subtract the following : A
| |
q H T O o H T O H T O
5 6 9 8 6 7 8 6 4
- 3 8 8 - 4 9 4 9
[!&lJ[%TﬂngbJ
3

3. In a cricket match between India and England, lndla scored 233 and 317
~ runs in the two innings and England scored 349 and 198 runs in the two
innings. Who won the match and by how many runs?

{J]- 44tens—940nes= [ 2 |hundreds + tens + ones

(uestion \M——’—M—_m
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